[image: image1.jpg]Guidelines for the Candidate

1. Additional 10 (Ten) minutes will be given to the students tofillup the students' information before th
startof the exam.
2. Allquestions are compuisoryand carry equal marks. Thereis no negative marking. Use of calculatc

isnotpermitted.

3. WiiteyourName, Roll Numberand Class clearly onthe Answer Sheet and donot forget o sign.
4. Therelsonlyone comectanswer hence markone choice only.

5. DarkenyourchoicewithHB Pencilor Blue/Black Ball PointPon only. For Example :

at Anumber has nine ones, six tens and eight hundreds. Whatis the number?
(A) 869 (®) 8%
(c) 968 () 986 .0 ®0OC¢

s the correct answer is option No. (A), the candidate should darken the circle corresponding to option No. (¢
6. Roughworkshouldbe donein the blank space provided in the booklet.
7. Retum the answer sheet to the invigilator at the end of the exam. The question paper can t

retained by the student

YYour Roll No. | ' \

SCIENCE OLYMPIAD FOUNDATION
408, Tf At icgRosdNews Sakwrg Hospes New Oe - 110023 oo oot

Participate in
Asia’s Biggest
Olympiads BineosH Evpi Omd

g o g o (G e
Contact your Olympiad Incharge Teacher / Principal Today !!




[image: image2.jpg]SECTION | : LOGICAL REASONING

1. If L means minus, A means 5, B means 3, then A L B =
= Wa TRl ®is. L @8 ) ()3

2. In which direction x has to move to reach e position ? North
(A) East
(B) West West
(C) North
(D) South South

3. Which day comes after Tuesday ?
_(A) Monday _(B) Sunday

4. Sonal had four ¥ 5 coins. She exchanged her money with some notes. If
2 notes, which figure shows the amount she got ?

~ (C) Wednesday (D) Friday

5. Radha has fifty 2 2 coins. If she puts them one over the other which geor
figure will she get?

*) @ ® Q) © é ©

6. Mona is making a friendship band with some beads having some figures. The
are kept in a certain order.

ICLOIOOIC IO OIO0;

If the pattern is repeated which two beads must be used next ?
Wee  (®ee © ©e © ©®

Which of the following options shows the number, three greater
than the given house number ?

) 273
®) 276 o hun
© 275 soventy |
©) 277 : .
8. Look at the given pattern :

<2 <2

& Q
How would you show this pattern using letters ?

| _mABB  (@AsA () ABC (©) A8
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10.

A fish rod has a code which is used to catch the fish of same code. Which figure
shows the fish, which can be picked by the given fishing rod ?

Codo
4

» »» T T

Toothbrush is longer than pin by __.
(A) 7cm ocm|z:Asa1snm

(B) 8cm ._\’:,
(C) 4 cm e
(@ 20m : == 0000

1. Which alphabet belongs to rectangle, circle and triangle ?
P P
(B) Q RN\
© R
s
(D) § #uiS ang | = 7\77 &
12. Four friends have some playing cards.
Nupur has a card [2] and said | have an even number.
Rohan has a card [3] and said | have an even number.
Rupali has a card [4] and said | have an odd number.
Rushali has a card [5] and said | have an even number.
Who is right 2
(W) Nupur (B) Rohan (©) Rupali (D) Rushali
13. In a race the student who completes the race in minimum time is the winner. Given
below is the time taken by four students W, X, Y and Z to complete a race. Who
is the winner ?
(A) [W/2 mins] (8) [X/3 mins| (C) [¥/5 mins] (D) [Z/1 min] =
14. Three friends M, N and O are sitting together. M is taller than N and N is tallor
than O. Who is the tallest?
_AamM BN ©o (D) Cannot say
15. The numbers that have 2, 4, 6, 8 and 0 in the one’s place are called even numbers.

Using the information given above find which of the following number is even?
(A) 2456 (B) 2520 (©) 7858 (D) All of these
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[image: image4.jpg]16. Which of the following letters can be divided into exactly two eque
folded along the dotted line?

@ e e i

17. Find the position of & in the grid. n 5.

(A) Bottom left

(B) Centre \i &
) ish oo @5

18. What symbol appears in the eighth square if Vansh starts counting 1
left ?

(A) x

19.In a competition a scheme is launched. The person with a ticket nu

digits add to 12 is a winner. If only Green Tickets were sold, who
following is the winner?

(442} Gy (474} Green G0¢
w ﬂ—h reen (o) (@@2}-Blue © E © %
ot Y iMeena il e ]
20. Which of the following is the heaviest 7
(A) 1 kg cotton (B) 1 kg wool
(©) 1kgiron (D) Al are of same weight

SECTION Il : MATHEMATICAL REASONING

21. Sonia started studying at seven o' clock. After 1 hour she went for pl
ground and came back after 1 hour. At what time she came back?

() (8) [a:00} (€) {g:00] (0) {500

22. Which number balloon matches with the number sentence written
on Sakshi's birthday cake ?

@ ©® © @ 0@

23. If 1 bead is added to one's place then
(A) Number of beads in ten's place will be increased by 1 and
one’s place will be emply
(B) Number of beads in units place will be increased by 2
(C) The extra bead will be moved to hundred's place
(D) None of the:
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[image: image5.jpg]24, Thirty six icocream coupons have to be distributed among six friends. Which figure
shows each child's share ?

® EZ![Z][D 20s %DD © %Ej:]

25, Which number sentence shows the correct method of finding the total number of
cherries ?

(A)3+3+3+3+3+3
(B)5+5+5 /1
o 4\@@&34‘&

 (D)5+5+5+5+5

26. Monika Is colouring every third number on the given number grid.
Which of the following numbers on her grid is not coloured ?

(A) 24

G [z [3]4]5 8] 7[8[110
(2) ; 1142 13[1415]1617 18] 19]20.
© 22[23(74]25(26[2728/29]
(D) 215

27. Parul has three T 10 notes in her purse. She went to the market and saw a to!
which costs 2 50. How much more money she needs to buy it ?

(A)@@@ (a)% (qm (D,?%

\

28, Which number in the box will make the given number sentence true ?

316 > (76
() 2 seyanteta ] SIS D)

29. Using which of the following figures can a circle be traced ?

*) @ ® ©) %

30. Which number is same as 1 more than 22 7
" (A) 1morethan 24 (B) 1lessthan 22 () Tlessthan 24 (D) 1 more than 2C

31. On what day of the week is the fifteenth day of the month? |5
(A) Tuesday i

s 6 78 910
(B) Wednesday PR Ry

() Thursday PR
|26 21 28

Friday
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32. Which of the following statements is true ?
(A) 100 ones = 10 tens

(B) 100 tens = 1 hundred
(©) 1 hunred = 1000

33. While playing with the abacus, Mehul lost one bead from the

tens bar and now his abacus looks as shown in the figure. %
What was his actual number 2

ANST. o anfB) 183 =& (0 10 SR oy

34. Which of the following figures can be made using four matchsticks *

—MAjChde @) mengle Ch calsre e g s D) NGy

35. Which number can replace 'X' 2 51

421

A7 (B) 9 73
O

36. The cost of three items are given below. Who has
enough money to buy all these items ?

C snowfall starts. In which city

37.In a city when temperature reaches 5°
going on ?

) dammu - 10 (@) Lo

C (@ 0a-14

38. Radha's lunch time is five hours before her play ing time. If her playing |
at 6:00 pm, which clock shows her lunch time 7
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What temperature is shown by the thermometer ? *c|
(A) 10°C a
(8) 15°C H
() 20°c -
() 13°C

40.

A frog was sitting on 15. He jumped 3 times to reach 0. Which of the following
number sentences shows this statement ?
(A 5+3=12 (8)5+5+5=15

(€) 15x0=0 (D) 15-3=0 012345678 9101112131415

SECTION Il : EVERYDAY MATHEMATICS

41.

A hotel is 12 metres tall and the apartment building is 2 metres taller than the
hotel. How many metres tall is the apartment building ?

(&) 14m (8) 24 m (€) 20m (0) 12m

42.

A shopkeeper bought 340 eggs. Out of them 100 eggs were broken. How many
unbroken eggs did the shopkeeper have?
(A) 204 (8) 240 (€) 304 (@300

. Ayush has 5 bunch of bananas. Each bunch has 3 bananas. How many bananas

does he have ?
(A) 75 (®) 15 (© 10 (0) 12

. If a student scoring 8 out of 10 marks gets an A grade, then which among the

following will also get an A grade?

(A) 7 out of 10 (B) 5 out of 10 (C) 100utof 10 (D) Goutof 10
45. Eight mangoes are shared equally among 2 friends. Each friend will get how many

mangoes ?

() 4 (® 5 ©z2 3
46. 1 have 10 toffees. | gave 2 toffees to Priya. | am left with ______ toffees.

)8 ®9 ©7 © s i
47.1n a bus there are 10 passengers. 5 more passengers entered into the bus. How

many passengers are there now?

(@) 12 (8) 15 © 13 () 16
. There are 294 men and 198 women in a village. How many people are there in
all?

(A) 592 (8) 492 (€) 202 (D)5
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[image: image8.jpg]49. Which of the following is an example of cone ?

» € (8) (C) Both (A) and (B) (D);

50. A monkey is on 2 step of a staircase. He jumps two steps up and col
step. At which step is he now ? <
(A) 37 step (B) 47 step (©) 6" step (D) 5" st

SPACE FOR ROUGH WORK
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